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?Graph Linear Functions

Goal - Use function notation.

VOCABULARY  §(x) is read M S ot x’
Your Notes
Function notation IS —QCX\ (:-9‘-6’
. |
j;()‘\ 1S5 another LOeY ‘o 5@6\‘6
SLoPE X NTELCEPAT Feam N
FONCTWon N oTo-Tiosd A S
Ol FRzmx
-_
ST e Find an x-value
For the function‘f(x) = 3y 4 1\ find the value of x so
() AFowcTas that[f(x) = 10|
Solution £ (x) =18
S:'C"\ = x| fix) = N Write original equation.
QC\(\ =}l Ifi =84 Substitute /O for f(x).
o =lx = I Solve for x.
@ e wWeny oo When x = 3, fix) = 10, (or o\s0 cen Scy Lé’: ‘03
_g_; A A ‘e L

L

\/L\UQ o+ - X
Q checkpoint Complete the following exercises,

1. For f(x) = B)f“ff_,ﬁ, find the value of x so that

f(x) = 24. a4 = bx-4f

+s§_ (E

2. For f(x) = 7Z#=8: find the value of x so that
f(x) = LT 7)(*3: 7
- -3

T
[ x72]
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INPUT X

4.7 Using Function Notation — f(x)

0 f(x ‘ |
i s el 1 - - o [I0) Se—

r

The input is «.>¢”

YV V V V¥

Write the above linear equation in function notation: ¢

ouTAT VY

Evaluate the following expressions given the functions below:

+— =@=-3x+10 fB)=x"+5 h(x)=1—j “j6)=2x +9 I
EVc\U‘R )("O
1) 3(10%)/= 306 +10 = @ IBC\Q)S—ZOW 3(0) = 10 /)g(j\’):;
: % J

%l‘b

2 1= 3245 =(%) | £(3) =14

3) h(-2)= __‘__}i =@
9 I0= 2(1) +9 =23)

5) Findx if g(x) = 16 Fims x. —3Xt19/= 10
%(x)='3x +|o§ — o

X = fa
6) Find x ifh(x)=6 —§

e > o

FVALWATE
@ g(tﬁ-{-\«(x) = ,
- + |2 : > é,:"z— é——TIP

@ 3f53—;\("93= {X"
-5 <@

=

CrossS
muh—up/



Your Noites

KT

e

=¥ o5& dek ms

( miW\igws
..t._-:. Y‘\uw\\oer %un ince

Foneton
m = \zot + 95

R
P

| here
+ext messcqes

Graph a funciion

SExample 2

i
0
-',-;M- ) e ]

Text Messages A wireless communication provider
estimates that the number of text messages m (in
millions) sent over several years can be modeled

by the function m = 120¢ + 95)where t represents
the number of years since 2002. Graph the function

2002| and identify its domain and range.
t m E
2wl PO ﬂ ?;
200p 71 FIEY %‘
Jod41? 2 _225_ %
20453 j_s_s_- i Yaars since 2002

The domain of the function is t = (J . From the graph

_or table, you can see that the range of the function is
!m = 95 | ‘ —

- 1D:Jc.>,o\ \R:mhqsw

e

@ Checkpoint Complete the following exercise.

3. Use the model from Example 2 to find the value of t
so that m = 1055. Explain what the solution means
in this situation.

m =126t +94s

m= 1,05S -
Salve S £
Joss = 120T +9F
—qs — 1
e
B = \}%‘:
| 20 VR

-8 |

Cves o by Wien (!,OES,OUQ)
iA the Year 2010.
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Fonction Den pons + Rances

InstrucTions: For gacu Fonemon, (Geaps Usine AnY
MeTHOO  ANDd DEFNE The RamgeE.
X NR— __
- m ’\; ): 3X "6 where. demain A 73 -
L. =
- - . JW*
No— Py 3 X Y / L s oo
§ . I X -3 | &%, >}'%( — 5w 24"
/ [4
s ol-6\ |/ | )
- 2 - >
_ - | | \(3 (D] = 24-L
. < 4 o
d 5!“‘;\‘:::"‘/ \ ,
e .
. ™ Roneen L ¥ "3 |
9) O -
‘@ %(X} :“'3X+,"’l‘; ‘*U\"efrc_. demgin X £+ ﬁ
B wlRY} | 3
BRSO i i Rt o
I ¥ ¢ k | e
o -3 |lo
L il 15 _
- B 4% 1 X Rcmo\a % I&‘ ?/ ?
s i i i B
A ,,é) }\(X\ B :"X +4 Where. dOMQ‘r\ / ._< X 4 b

~
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